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T AR E REGE R T BRI
KA =41 FEER,FLL 3 y* = x(Acos x + Bsin 2) , Il
(v*) = Acos x + Bsin x + x(— Asin x + Bcos x),
(y* )" = 2(— Asin x + Bcos x) — x(Acos x + Bsin x).

1

oy (v ) Ly DY RAFES,BA=0,B = 5
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1
2

rsin x.

TR T BRI N v° =

ﬂﬁﬁﬁ%ﬁﬁ%y=%hmx+ammrw%mmmam;ﬁ&ﬁﬁﬁ.

(3) X FF U B R B ARAE 5 AR
A4+ 20—3 =01, =— 3,4, = 1,
B R, B SFIR T RERGEB N v = Cie™ +Ce",C,,C, AEEH B
1 R E RBE R TR FF AR
HHa=2RREBER,FUTE y* = Ae™, N
(y* ) = 2Ae™,(y" ) = 4Ae™,

Hy*  (y" ) (v )Y A BB, 18 5Ae™ = e =>A — %-
B R AR v = e

o
 HURTRIEMY y = Cie™ + Coe + +¢,C G, HIERHE

(4) i FE FF U7 BB R4 05 R

AP 442+ 5 X0Bflp: =— 2+ 2i,
AT ISFIR FBEEBE N v = e (Cicos 22+ C,sin 22),C, ,C, I EH L.
T H 7 BB OR 7 B2 /O R
A 21 A RFFAER, Al 3y = Acos 2x + Bsin 2x,
il (y* ) =— 2 Asin 2z + 2Bcos 2z, (y* )" =— 4Acos 2x — 4Bsin 2z,

By () )) HRATRES,

" 8
‘B—8A =1 a = 65
185 < —> 4 ,
A+8B =0 o L1
.h 65
LA ARSI N v =— %(SCOS 2x — sin 2x).

i T ) A AR A
y = e **(Cycos 22+ C,sin 2x)— -é%(SCOS 22 —sin 2x2),C, ,C, AEE W K.

LG 11. 1SY SR TR ' + 4y +4y = e, Hh o HTEL
[BY XN AFETRBRIA+404+4 =0, FEHEHA =1, =— 2,
BN ST IR T REE RN v = (C, +Cx)e ™.
A K IE 7 IR T B — - e
D Y aF#=— 20, BEH v = Ae”, M (y" ) = aAe”,(y*)" = Ae”,
RARTER

ox

e -
(@ +2)%°

_ 1 .
A (ot 2)° , DU 5 5% A Y
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ST = iy TV Y o T — T el T

@ Yao="—2H0,RFEHBHy = Azle ™,
(y* ); — ZAIe-ntzI T ZAIZE_ZI, (y* )” = ZAE_ZI ___SAIe-"Z.r +4AJC2'E_H2"

RABEFESEA = -,

y
AR 7 IR 7 7 B I8 9
’ s l |
* (C, = Land e -+ (a+2)ze ya FE— 2
yoo =< .
(C1 + Cox)e ™ + *“—.I e™ , & = 2

[ﬁll 11. 16] E_Fﬁll:ﬂ%[ﬁﬁﬁq: ’ ]/J\ y = C] e’ +Cz COS 2.1' +C3 Sin ZI(Cl 9C2 !(:3 %{Eﬁﬁﬁ) %ﬁ

i 1 _
(A)y” + vy —4y —4y =0 (B)y” + vy +4y +4y =0
(C)y” — 4" — 4y +4y =0 (D)y” — 3y +4y —4y =0
[ 5047 ) 2 55 B 418 40 5 12 0 B A, ORI 4 AR 9 B 3, — MBAR 8 3 A 1Y 9B X 20 A th A A 1
R 5 NEFFIE 7 AT

[#BYH KN v = Cie” +Cycos 22 + Cysin 22(C, ,C, 5 Cy BAT B ¥ B R@EfE, B LA R R
fEE R 1, 21 FRFEFEAQA—1) Q20 QA+ 20)= 0,5
A — A4 —4 = 0.
BRI TR v —y + 4y —4dy = 0. #iE(D).
[ 11. 17 B8 vy = Cie” +Coe™ +xe” WA — T T RERE
(A)y' — vy — 2y = 3ze” (B)y' —y" — 2y = 3¢
(O)y' +y — 2y =3x€” (D)y' + 3y —2y = 3¢
[ ] IE:‘EIFJF.@%‘EW@%:T:’C,ﬂ%ﬂﬁﬁﬁﬁﬁﬁiﬁmﬁﬁﬁﬁﬁ%ﬁﬁ%%ﬁ@%
' A= 1,4 =—2.
I Xk B A S5 IR R R AE T N
A—1DQA+2) =0, +1—2=0.
X R B T IR TR
y 4+ 3y —2y = 0.
W oyt = ze FEMA H RN — LA = 1 4R, BURIEFFR&EE M e T B G
s dEF RN BB ER f(2) = Ce"(CHFEHO. Fr AL & B A~3E 5, b % (D).
(#1118 EH vy, = xe" + e, y, = xe” + e 7,y; = xe’ + ¥ — e BHH — R M H R EIAEST
WM BB R =AM KixM e TE.
[(FRY R R K v +py +qv = (), RFERE p.q, f () BIH].
i £8Pk 7 72 A O 1 B
By, —y; =€y (y; —32) +(y —y3) = e~
BXtRIFRFRE Y + oy +ay = 0 PRI R IIAE

BFEL A =— 120 = 2 RN A+ ph g = O ORI RO R 18 p =1
qg =— 2.
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L1 4

(1 —2x)e".

xe* + e LAY —y — 2y

FRLL SR FR R v —y — 2y = (1 —2x)e".
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e
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ST
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P R

el

2, B 40

axy +a,y = f(x)

, H¥ a,,a;,""a,1+a, N

HY 7 X RO R Y O

™

/!

e
—etll,
e

Iny(n) __I_ alxn—ly(nml)

F 5 R S BR O BK LT

2 TR H R B BRI pr i 5 R RN+ H

awEd ....“...n“..n.m.u.”.”
B S

MRk N
':'l'{.:.- i

ey b
3 o
PR 3
belcd X
i [

T

e

e

s, e
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-

s A
R e il

ok o

-
gy
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e
fohaBi
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e et

A

e

i e

o A

T,
Wi

e R

fEEA R « B2

]

%ﬁs?" T — eI,JﬂU t = In -Iaj:Eyﬁflﬁt H@@iﬁaﬁlu

-
<
Ko R Rals
<
s

:rzy”—-—-— D(D—1)y;

= D(D—1)(D—n-+1)y.

KL F AL R P, (D)y = f(e' ) flft il v
M y = y(In ) 37 EKHL 7 2 B .

Iny(n)
[ 11. 19) &M FE 22y + 2y + y = 2sin(ln z).

y(L)

il Tl
Bl e—

[f#) % = = ¢, t = |In x, W R FRA] 24k K

DD—1Dy+ Dy +y= 2sin ¢,

1n %.

28

e — h——y
—

!_|_y
PN AFFIE SR AA +1 = 0,2/ A =11

/.

1Y

B 6 R £ 3 YR FT By = Cicos £+ Cysin ¢,

K ¥ i

f+F %

N A A=
T

A

) 5

In ¢

f yv* = t(Acos t + Bs

LA
y*" = Acos ¢t + Bsin ¢t + ¢t (— Asin ¢ + Bcos t)

/

, BT

1

1

L]

*

— 2Asin t+ 2Bcos t + t(— Acos ¢ — Bsin t),

Y

AR T e

X

iniz,

In t)= 2s

in )+ t(Acos t + Bs

Bs

Acos t —

2Bcos ¢t + t(—

int

— 2As

Hl — 2Asin ¢t + 2Bcos ¢ = 2sin t.

218 A=—1,B=0,Bl4@E N y*

It LA D X 3 S8

— I[COS [,

vy = (Cycost+ C,sin t — tcos t,

Rl

y-"""'Cl cos(In )+ C,sin(In 2)— In xcos(ln 1),
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sk | 8@ &

Hh C,C, HIFEEH.

— JEEA
1LIZRAEFREBRBM Y, TR Y +PO)y=Qx) ABHBAREGHE vi(2),v: (), C AHEE 7 %, N
AR B E

A.Cl i (x) — vy, () ]. B. vi(x) +C| vy (x) — v, (x) .
C.C_yl(x)+yz(x)]. y1($)+c[y1($€)—|_y2($):|. [ ]
2. B Fa & éiy—y(x)ﬁ’f%*%‘"-ﬁ R8T Ay = ﬁfﬁ oy L ¥ Az >0 B ,a £ Ax 89 G M- L

o,y (0)= 7, W y(1)F F

A. 2. B. =. C.et. ' D. re® . [ ]
3. p(x)fE(—oo, Foo)k B A REHE TE, 3’1(33)93’2(3:) RO FRY +p()y=08HmAN

FE WG4, N F R &8P R R L6 2

N ﬁg 5 (BAE v, (1) £ 0).

B. C(y, (x) — vy, Cx) ) #J mx, 7 A2 84 18 &,
D. v, (z) — v, (2) BAEfT—ERF T K. [ ]

4.3 p(x)E[a, too) LiESLIER, W RS 7J‘7'F£- p(:r)y = 08B — N y(x)ZRiHE
lim y(x) = 0,0 p(x) b R ik &

dx

A. liflp(x)zo. B. lim p(x) =+ co.
4 co *+-oo
C. p (x)dx K 8. D. p(x)dx B H#. [ )
el J a

¥ -Eri]—% :F‘ Y1 — e_hrayz — er“'r,yg = e’ éﬁ 3 F;I\r%’ %éi%fk&’rifﬁ'ﬁ}ffﬁiﬁ%

A Y —y — ¥ Hy= 0. By +y =y —y=0.

C.v" — 6y +11y — 6y = 0. D. vV —2y — 3y 4+ 2y =0. [ ]
6. TRy FARR, T AWMy FTREG L

A. y(x— 2y)dx — x°dy = 0. B. (z* + y*)dx + xydy = 0.

C. 2e¥dAR)(xe”® — 2y)dy = 0. D, (32% + 6xy®)dx + (6x*y+4y°)dy = 0.

[ ]
—JEEE |
L. #ay Ay +(y)P =08EMRE .
2.5 F Ry +2yv +yv=3xe® FH4n 0 4 R
3. ﬁ,ﬁ.(%ao)ﬂfﬁi%%i’i vy arcsin z - Y = 1 W& FTAEHA
. _ V1 — x°

4o Y sin x . ' B -

S - w2 y(2r)= 0 89 2
5. I FAZ(x+ Dy —(z+ Dy +y =6+ Din(x+1) 8B A
=V E&

o 2
1. K% fﬁijy _y— VT Ty 0 18 %
e o _
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5Om |meny
f(er Vi + y? Jdx —zdy = 0(x > 0)

B &
hy|r=1ﬂ0 |

3.k EM f(x) [, +oo) L, 2HWE y= (), GZ r=1,x2=1tGt>1) 5 z & F [
R0 T8 B Y 4 o dh ik kb — B T R 40 Ak S 4 89 AR AR

V(1) = gl:tzf(.t) — f(1 7,

2. K A4 J°) R <

KKy = (@) FTH RS FHR, FRERSFTAEBLES 3| = -3—%%.
Z 1
4, iﬁﬁﬁﬁ‘f?fiy!—Zy - QO(I)Q;E\LEF 1;0(.17) — {O iji 19&*’&-(_@05 _I_OO) F"]%lﬁ‘:ﬁ%ﬁ

Y — y(I)!/!iiﬁ(—m!l) #(19 —-|—O<1'J) mﬁﬁfﬁiﬁﬁ%ﬁﬁiyﬁiﬁfi%{* y(O) o 0.
. RKMHyFTA Yy —2y —e = 0@ REH v(0) =1,y(0) =1 &4,

z *% & %

—.J1.B 2.D 3.C 4.D 5.C 6.D
:...‘1._}} —= 1H(I+C1 )"I_Cg. 2. y* === .I'z (AI“JFB)E_I.

: B 1 s 1 — o8 g
3. yarcsin x = x — —. 4., vy ;
Z &

o. y=lx+1)+cl(z+DIn(x+1D) +((x+DIn*(x+1).
l.y+ /2" + 3y =C,Ei# x>0 Fox < 0.

1 . 1
2.y = 5% >
IEBMA y—x=Cly; REMHAMBA y—x=—2y(R y= 1—fx3)'
= — 1,z <f '
% wlx) = {e TS AR BB ]y = e — 1, WA (— oo, +00) k
(1"'_6 )EI!I>1

| | ezr_].gxg].
RERBHK Yo {(1“e"z)ez‘rax>l

— ]- __]-_ 2x
D. Yy 4+4(3+2x)e ;
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